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2025-03-10 07:35:40.11
Mean = 1108 794 - .

Exposure T|m —45*0,5—,_—.___,—
M%iai

min = mean-0.50 = 1103 419
max = mean + 1.0 0 = 1119 543
3000 ~Focus = 10838.0 : &
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2025-03-10 07: 36'34 90.
Mean = 1097.265 - :

o=10.417 -
2500 Exposure Time 45 Os
Mode0

min = mean -0.50 = 1(592 01514}
max.= mean + 1.0 0 = 1107 681
3000 Focus = 10838.0 '
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2500 Exposure Time 45 0s
ModeO u
min = mean -0.5.0 = 1091.69
max.= mean + 1.0 0 = 1107 37
3000 Foecus = 10838.0 L .
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2025-03-10 07 38_24 36 .
Mean = 1096.906

o =10.447 . .
2500 Exposure Time =45.0 s
ModeO :

min = mean - 0.5.0= 1091.682
max = mean + 1.0 o = 1107.353
3000 FOCUS =10838.0 ” ot
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2025-03-10 07: 39_19 23 .
Mean =-1096.646 -

o =10.362 . 3
2500 Exposure Time =45.0 s
ModeO ;

min = mean -0.5.0 = 1091 464
max-= mean + 1.0 0 = 1107 008
3000 FOCUS = 10838 (0] »
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2025-03-10 07 ZF0_13 90 .
Mean = 1096.963 £

o = 10.345 7
2500 Exposure Time 4-5 0s
Mode0 £

min = mean -.0.50 = 1091.791
max.= mean + 1.0 o = 1107 309
3000 Fecus = 10838 0 .
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Mean =1096.72 .

o =10.376 ;
2500 Exposure Time —4-5 O0s
ModeO s

min = mean -0.50 = 1091.534
max.-= mean +.1.0 0 = 1107 098
3000 FOCUS = 10838 0 ”
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o=10. .
2500 Exposure Time —4-5 0s

Mode© -

min = mean -.0.5 0 = 1091.057

maxXx = mean +.1.0 0 = 1106 623
3000 Focus = 10838 (0] .
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Mean =1095.867 -

o =10.351 .
2500 Exposure Time 45 0s
Mode0 e

min = mean - 0.5 0 = 1090.692
max = mean +1.00 = 1106.219
3000 Focus = 10838.0 * e
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o=10. .
2500 Exposure Time 45 O0s

Modeo 1

min = mean - 0.5 0 = 1090.565

max:= mean + 1.0 0 = 1106 125
3000 Focus = 10838 0 *
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2025-03-10 07 Z[4'47 98 . ;
Mean =1095.535

o=10.417 .
2500 Exposure Time 45 0s
Mode® 5

min = mean - 0.5 0 = 1090.326
max:= mean +.1.0 0 = 1105 952
3000 Focus = 10838 0 *
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2025-03-10 0% 2[5'4 .70 »
Mear110—3}1095 .349

o= 10. .
2500 Exposure Time. —45 0s

Mode® 5

min = mean - 0.5 0 = 1090.175

max = mean +1.0 0 = 1105.698
3000 Focus = 10838.0 . bk
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2025-03- 10 07:46:37.57 »
Mean = 1094.871 - f

o =10.341 .
2500 Exposure Time-=45.0 s
Mode® v

min = mean - 0.5 0 = 1089.701
max = mean +- 1.0 o = 1105.213

3000 Focus = 10838.0

0 1000 2000 3000 4000



500

1000

1500

2000

ext 143547+373338 r 455 2025-03- 10T07 44 56
2025-03-10 O% Z[T3 247 s
Mea90—2%09-4 W] B .
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2500 Exposure Time.=45.0 s
Mode® s
min = mean - 0.5 0 = 1089.368
max:= mean +-1.0 0 = 1104 683

3000 Focus = 10838 0
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o=10. .
2500 Exposure Time.=45.0 s
Mode® i
min = mean-0.5 0 = 1089.033
max:= mean +:1.0 o= 1104.407
3000 Focus = 10838.0 r ik i
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2025-03-10 O% 2[9"2 .09 =
Mean =1094.041 -

o =10.207 :
2500 Exposure Time.=45.0 s
Mode® o

min = mean - 0.5 g = 1088.937
max'= mean +:1.0 o = 1104.248
3000 Focus = 10838.0 ' e
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2025-03-10 07%:50:16.80 =»
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o=10. .
2500 Exposure Time.=45.0 s
Mode® e
min = mean - 0.5 g = 1089.026
max‘= mean +:1.0 g = 1104 366
3000 Focus = 10838 0 .
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0 =405 -
2500 Exposure Time.=45.0 s
Mode® i
min = mean - 0.5 o0 = 1088.722
max-= mean +:1.0 g = 1104 028
3000 Focus = 10838 0 .
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o=10. .
2500 Exposure Time.=45.0 s
Mode® 5y
min = mean - 0.5 0 = 1088.242
max-= mean +:1.0 g = 1103 44
3000 Focus = 10838 0 .
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2500 Exposure Time-=45.0 s
Mode® i)
min = mean - 0.5 g = 1087.638
max = mean +:1.0 c = 1102.826
3000 Focus = 10838.0 s s
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Mear110_018092 .366
o= 10. ‘
2500 Exposure Time:=45.0 s
ModeD o
min = mean - 0.5 0 = 1087.322
max = mean +:1.0 g = 1102.454
3000 Focus = 10838.0 ' ey
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2500 Exposure Time:=45.0 s
ModeD &
min'= mean - 0.5 ¢ = 1086.976
max = mean +-1.0 0 = 1102. 043
3000 Focus = 10838 0 ,
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Mea90—0%091 .622
o=10. ’
2500 Exposure Time:=45.0 s
Modéeb 4
min = mean - 0.5 ¢ = 1086.575
max = mean +:1.0 0 = = 1101. 716
3000 Focus = 10838 0 ;
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Mea90—1%091 1G5
o=10. i
2500 Exposure Time-=45.0 s
Modeb £
min = mean - 0.5 ¢ = 1086.585
max = mean +-1.0 0 = 1101. 78
3000 Focus = 10838 0 :
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2025-03-10 0757:34.98 =
Mea90—0%091 279
o=10. -
2500 Exposure Time-=45.0 s
Modeb i
min = mean - 0.5 ¢ = 1086.264
max = mean +1.0 0 = 1101. 308
3000 Focus = 10838.0
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o— = L]
2500 Exposure Time-=45.0 s
Modeb 4
min = mean-0.5 ¢ = 1085.671
max = mean +:1.0 o = 1100 588
3000 Focus = 10838 0 ’
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Meag 57%[090 203
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2500 Exposure Time*=45.0s _
Mode ;
min = mean - 0.5 g = 1085.218
max = mean +:1.0 g = 1100. 173
3000 Focus = 10838.0 .
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2500 Exposure Time:=45.0s
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min = mean -0.5 ¢ = 1085.218
max = mean +1.0 g = 1100. 208
3000 Focus = 10838 0 ’
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min = mean - 0.5 ¢ = 1085.298
max = mean +'1.0 o = 1100. 217
3000 Focus = 10838' 0 ;
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2500 Exposure Time:=45.0 s
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min = mean - 0.5 ¢ = 1084.917
max = mean +:1.0 o = 1099. 821
3000 Focus = 10838 0] ’

0 1000 2000 3000 4000



500
1000

1500

*
2000 ¥
ext 143547+373338 r 45s 2025 03- 10TO7 59 15
2025-03-10 08:04;46.81
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2500 Exposure Time*=45.0s
- Mode0

min = mean - 0.5 0 = 1084.02

max = mean +1.0 0 = 1098 772
3000 Focus = 10927 0
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2025-03-10 08:05;41. 67 "
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2500 Exposure Time*=45.0s _
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min = mean - 0.5 0 = 1083.626
max = mean +:1.0 0 = 1098 397
3000 Focus = 10927 0

0 1000 2000 3000 4000



500
1000
1500

2000

ext 143547+373338 r 45s 2025 03- 10T08 00 56
2025-03-10 08106;36.56 *
Meag 5413088 103
ey :
2500 Exposure Time*=45.0s _
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min = mean - 0.5 g = 1083.182
maX = mean +1.0 o = 1097 946
3000 Focus = 10927 (6]
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2500 Exposure Time*=45.0s
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min = mean.- 0.5 0 = 1082.832
max = mean + 1.0 0 5 1097.572
3000 Focus = 10927.0 -
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o’ E-~
2500 Exposure Time*=45.0 s
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min = mean - 0.5 g = 1082.977
maxX = mean + 1.0 o = 1097 633
3000 Focus = 10927 0
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2500 Exposure Time*=45.0s ,
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min = mean - 0.5 0 = 1083.163
max = mean + 1.0 0 5 1097.837
3000 Focus = 10927 0
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2500 Exposure Time=45.0 s
Mode
min = mean - 0.5 0 = 1082.684
max = mean + 1.0 0 5 1097.378
3000 Focus = 10927.0
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Mean =1087.621 i

o =9.827
2500 Exposure Time*=45.0s _
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min = mean - 0.5 ¢ = 1082.708
maxX = mean + 1.0 0 5 1097.448
3000 Focus = 10927 (0] ;
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Mean =1087.703

o =9.803
2500 Exposyre Time'=45.0 s
- Mode

min = mean - 0.5 0 = 1082.801
max = mean + 1.0 o 5 1097.505
3000 Focus = 10927 0 :
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g =
2500 Exposyre Time'=45.0s ,
Mode

min = mean - 0.5 0 = 1082.458
max = mean + 1.0 0.5 1097.069
3000 Focus = 10927 (0] :
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2025-03-10 08*13:55.19 !
Mean = 1087.117

o=9.761
2500 Exposyre Time'=45.0 s
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min = mean - 0.5 0 = 1082.237
max = mean + 1.0 0 5 1096.878
3000 Focus = 10927 0

0 1000 2000 3000 4000



500
1000
1500

2000

ext 143547+373338 r 45s 2025 03- 10T08 08- 30
2025-03-10 08%*14.50.06
Meag 7—4%086 608 ,
g
2500 Exposyre Time =45.0 s
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min = mean - 0.5 0 = 1081.737
max = mean + 1.0 0 5 1096.35
3000 Focus = 10927 0]
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Mean = 1086.595 .

0=19.704
2500 Exposyre Time =45.0 s
Mode

min = mean - 0.5 0 = 1081.743
maxX = mean + 1.0 0 5 1096.3 ,
3000 Focus = 10927 0
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0=9.678
2500 Expo éjre Time=45.0s

mm = mean-0.50 =1081.975
max = mean + 1.0 05 1096.492
3000 Focus = 10927 0
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min = mean - 0.5 6 = 1081.898
max = mean + 1.0 0 5 1096.416
3000 Focus = 10927 0
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min = mean - 0.5 d = 1082.248
max = mean +. 1.0 0 5 1096.9Q6
3000 Focus = 10927 0
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